

Some Properties of a New Class of Univalent Functions Involving a New Generalized Differential Operator with Negative Coefficients

A. Amourah* and Maslina Darus

School of Mathematical Sciences Faculty of Science and Technology Universiti Kebangsaan Malaysia Bangi 43600 Selangor D. Ehsan, Malaysia; alaammour@yahoo.com, maslina@ukm.edu.my

Abstract

The primary motivation behind this paper is to present new generalized differential operator $A_{\mu,\lambda,\delta}^m(a,\beta)f(z)$ defined through $U = \{z \in \mathbb{C} : |z| < 1\}$ we present a new contribution is subclass of analytic functions $G_m(\gamma,\sigma,\chi)$. Additionally, we talk about some properties for univalent functions with many results for the subclass of analytic functions $G_m(\gamma,\sigma,\chi)$. Furthermore, with given solve technical to application involving fractional calculus for univalent functions.

Keywords: Analytic Functions, Differential Operator, Close-to-convex Functions, Fractional Calculus, Starlike Functions

1. Introduction and Preliminaries

Now, we will go to present preface for univalent functions, with important contributions to get some important properties in this is article.

Let $\mathbf{A}$ denote the class of univalent function $f(z)$:

$$f(z) = z - \sum_{n=2}^{\infty} a_n z^n, \quad (a_n \geq 0) \quad (1)$$

which are analytic function in the unit disc $U = \{z \in \mathbb{C} : |z| < 1\}$. For a univalent function f in $\mathbf{A}$, we introduce the following differential operator

$$A_{\mu,\lambda,\delta}^0(a,\beta)f(z) = f(z),$$

$$A_{\mu,\lambda,\delta}^1(a,\beta)f(z) = \left(1 - \frac{\beta(\lambda - a)}{\mu + \lambda}\right)f(z).$$

$$+ \left(\frac{\beta(\lambda - a)}{\mu + \lambda}\right)zf'(z) + \frac{\delta}{\mu + \lambda}z^2f''(z),$$

and for $m = 1, 2, 3, \dots$

$$A_{\mu,\lambda,\delta}^m(a,\beta)f(z) = A_{\mu,\lambda,\delta}^m(a,\beta)(A_{\mu,\lambda,\delta}^{m-1}(a,\beta)f(z)). \quad (2)$$

If f is given by (1), then from (2) we get

$$A_{\mu,\lambda,\delta}^m(a,\beta)f(z) = z + \sum_{n=2}^{\infty} \left[1 + \frac{(n-1)[(\lambda - a)\beta + n\delta]}{\mu + \lambda}\right]^m a_n z^n \quad (3)$$

for $f \in \mathbf{A}$, $a, \delta \geq 0$, $\beta, \lambda, \mu > 0$, $a \neq \lambda$ and $m \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}$.

This generalizes numerous operators as follows.

*Author for correspondence

- (i) $A_{\mu,\lambda,0}^m(0,1)f(z) = z + \sum_{n=2}^{\infty} \left[\frac{\mu + \lambda n}{\mu + \lambda} \right]^m a_n z^n$, the operator presented and studied by Swamy¹²,
- (ii) $A_{1-\lambda,\lambda,0}^m(a,\beta)f(z) = z + \sum_{n=2}^{\infty} [1 + (n-1)(\lambda - a)\beta]^m a_n z^n$ the operator presented and studied by Darus and Ibrahim⁴,
- (iii) $A_{1-\lambda,\lambda,0}^m(0,1)f(z) = z + \sum_{n=2}^{\infty} [1 + (n-1)\lambda]^m a_n z^n$ the operator presented and studied by Al-Oboudi⁵,
- (iv) $A_{0,1,0}^m(0,1)f(z) = z + \sum_{n=2}^{\infty} n a_n z^n$, the operator presented and studied by Salagean²,

Let $G_m(\gamma, \sigma, \chi)$ denote and present a new contribution is subclass of $\mathbf{A}$ comprising of univalent functions f which satisfy

$$\left| \frac{\gamma \left[\left(A_{\mu,\lambda,\delta}^m(a,\beta)f(z) \right)' - \frac{A_{\mu,\lambda,\delta}^m(a,\beta)f(z)}{z} \right]}{\sigma \left(A_{\mu,\lambda,\delta}^m(a,\beta)f(z) \right)' - (1-\gamma) \frac{A_{\mu,\lambda,\delta}^m(a,\beta)f(z)}{z}} \right| < \chi, \quad (4)$$

where $A_{\mu,\lambda,\delta}^m(a,\beta)f(z)$ is given by (3), $0 \leq \gamma < 1$, $0 \leq \delta < 1$, $0 < \chi < 1$ and for all $z \in U$.

We know that $G_0(\gamma, \sigma, \chi)$ was presented by Atshan and Ghawi⁶. We use techniques similar to these used Amourah et al.¹, Darus and Faisal³, Al-Hawary et al.⁷ and ¹³⁻¹⁵.

2. Some Results for the Class $G_m(\gamma, \sigma, \chi)$

In this part in article, we find the first important result coefficientine quality

Theorem 2.1 A univalent function $f \in \mathbf{A}$ is in the class $G_m(\gamma, \sigma, \chi)$ if and only if

$$\sum_{n=2}^{\infty} [\gamma(n-1) + \chi(n\sigma + 1 - \gamma)] \left[1 + \frac{(n-1)[(\lambda - a)\beta + n\delta]}{\mu + \lambda} \right]^m a_n \leq \chi(\sigma + (1 - \gamma)). \quad (5)$$

The result (5) is sharp.

Proof. Suppose that the result (5) hold true and $|z| = 1$. Now, we follow technique steps

$$\begin{aligned} & \left| \gamma \left[\left(A_{\mu,\lambda,\delta}^m(a,\beta)f(z) \right)' - \frac{A_{\mu,\lambda,\delta}^m(a,\beta)f(z)}{z} \right] \right| - \\ & \chi \left| \sigma \left(A_{\mu,\lambda,\delta}^m(a,\beta)f(z) \right)' - (1-\gamma) \frac{A_{\mu,\lambda,\delta}^m(a,\beta)f(z)}{z} \right| \\ &= \left| -\gamma \sum_{n=2}^{\infty} (n-1) \left[1 + \frac{(n-1)[(\lambda - a)\beta + n\delta]}{\mu + \lambda} \right]^m a_n z^{n-1} \right| - \\ & \quad \chi \left| \sigma + (1-\gamma) - \sum_{n=2}^{\infty} (n\sigma + 1 - \gamma) \right. \\ & \quad \left. \left[1 + \frac{(n-1)[(\lambda - a)\beta + n\delta]}{\mu + \lambda} \right]^m a_n z^{n-1} \right| \\ & \leq \sum_{n=2}^{\infty} [\gamma(n-1) + \chi(n\sigma + 1 - \gamma)] \\ & \quad \left[1 + \frac{(n-1)[(\lambda - a)\beta + n\delta]}{\mu + \lambda} \right]^m a_n - \chi(\sigma + (1-\gamma)) \leq 0. \end{aligned}$$

Hence, by maximum modules principle, $f \in G_m(\gamma, \sigma, \chi)$. Now, suppose that $f \in G_m(\gamma, \sigma, \chi)$

Then we have from (3) that

$$\left| \gamma \left[\left(A_{\mu,\lambda,\delta}^m(a,\beta)f(z) \right)' - \frac{A_{\mu,\lambda,\delta}^m(a,\beta)f(z)}{z} \right] \right| < \chi \left| \sigma \left(A_{\mu,\lambda,\delta}^m(a,\beta)f(z) \right)' - (1-\gamma) \frac{A_{\mu,\lambda,\delta}^m(a,\beta)f(z)}{z} \right|,$$

we get

$$\begin{aligned} &= \left| -\gamma \sum_{n=2}^{\infty} (n-1) \left[1 + \frac{(n-1)[(\lambda - a)\beta + n\delta]}{\mu + \lambda} \right]^m a_n z^{n-1} \right| \\ &< \chi \left| \sigma + (1-\gamma) - \sum_{n=2}^{\infty} (n\sigma + 1 - \gamma) \right. \\ & \quad \left. \left[1 + \frac{(n-1)[(\lambda - a)\beta + n\delta]}{\mu + \lambda} \right]^m a_n z^{n-1} \right|. \end{aligned}$$

Thus

$$\sum_{n=2}^{\infty} [\gamma(n-1) + \chi(n\sigma + 1 - \gamma)] \left[1 + \frac{(n-1)[(\lambda - a)\beta + n\delta]}{\mu + \lambda} \right]^m a_n \leq \chi(\sigma + (1 - \gamma)).$$

This implies that $f \in G_m(\gamma, \sigma, \chi)$. The result for coefficient inequality (5) is sharp for the univalent function

$$f(z) = z - \frac{\chi(\sigma + (1 - \gamma))}{[\gamma(n-1) + \chi(n\sigma + 1 - \gamma)] \left[1 + \frac{(n-1)[(\lambda - a)\beta + n\delta]}{\mu + \lambda} \right]^m} z^n \quad (n \geq 2).$$

Theorem 2.2 If the function f defined by (1) is in the class $G_m(\gamma, \sigma, \chi)$, then for $|z| < 1$, we have

$$\begin{aligned} |z| - \frac{\chi(\sigma + (1 - \gamma))}{[\gamma + \chi(2\sigma + 1 - \gamma)] \left[1 + \frac{[(\lambda - a)\beta + 2\delta]}{\mu + \lambda} \right]^m} |z|^2 &\leq |f(z)| \leq \\ |z| + \frac{\chi(\sigma + (1 - \gamma))}{[\gamma + \chi(2\sigma + 1 - \gamma)] \left[1 + \frac{[(\lambda - a)\beta + 2\delta]}{\mu + \lambda} \right]^m} |z|^2 \end{aligned} \quad (6)$$

and

$$\begin{aligned} 1 - \frac{2\chi(\sigma + (1 - \gamma))}{[\gamma + \chi(2\sigma + 1 - \gamma)] \left[1 + \frac{[(\lambda - a)\beta + 2\delta]}{\mu + \lambda} \right]^m} |z| &\leq |f'(z)| \leq \\ 1 + \frac{\chi(\sigma + (1 - \gamma))}{[\gamma + \chi(2\sigma + 1 - \gamma)] \left[1 + \frac{[(\lambda - a)\beta + 2\delta]}{\mu + \lambda} \right]^m} |z| \end{aligned} \quad (7)$$

Proof. It is easy to see that, for $G_m(\gamma, \sigma, \chi)$,

$$\sum_{n=2}^{\infty} a_n \leq \frac{\chi(\sigma + (1 - \gamma))}{[\gamma(n-1) + \chi(n\sigma + 1 - \gamma)] \left[1 + \frac{(n-1)[(\lambda - a)\beta + n\delta]}{\mu + \lambda} \right]^m}$$

And

$$\sum_{n=2}^{\infty} n a_n \leq \frac{2\chi(\sigma + (1 - \gamma))}{[\gamma(n-1) + \chi(n\sigma + 1 - \gamma)] \left[1 + \frac{(n-1)[(\lambda - a)\beta + n\delta]}{\mu + \lambda} \right]^m},$$

$$\begin{aligned} \sum_{n=2}^{\infty} [\gamma + \chi(2\sigma + 1 - \gamma)] \left[1 + \frac{(n-1)[(\lambda - a)\beta + n\delta]}{\mu + \lambda} \right]^m a_n \\ \leq \sum_{n=2}^{\infty} [\gamma(n-1) + \chi(n\sigma + 1 - \gamma)] \left[1 + \frac{(n-1)[(\lambda - a)\beta + n\delta]}{\mu + \lambda} \right]^m a_n, \quad (n \geq 2) \end{aligned}$$

And

$$\begin{aligned} \sum_{n=2}^{\infty} \frac{n}{2} [\gamma + \chi(2\sigma + 1 - \gamma)] \left[1 + \frac{(n-1)[(\lambda - a)\beta + n\delta]}{\mu + \lambda} \right]^m a_n \\ \leq \sum_{n=2}^{\infty} [\gamma(n-1) + \chi(n\sigma + 1 - \gamma)] \left[1 + \frac{(n-1)[(\lambda - a)\beta + n\delta]}{\mu + \lambda} \right]^m a_n, \quad (n \geq 2) \end{aligned}$$

we have,

$$\begin{aligned} |f(z)| &\leq |z| + |z|^2 \sum_{n=2}^{\infty} a_n \\ &\leq |z| + \frac{\chi(\sigma + (1 - \gamma))}{[\gamma + \chi(2\sigma + 1 - \gamma)] \left[1 + \frac{[(\lambda - a)\beta + 2\delta]}{\mu + \lambda} \right]^m} |z|^2 \end{aligned}$$

$$\begin{aligned} |f(z)| &\geq |z| - |z|^2 \sum_{n=2}^{\infty} a_n \geq |z| - \\ &\frac{\chi(\sigma + (1 - \gamma))}{[\gamma + \chi(2\sigma + 1 - \gamma)] \left[1 + \frac{[(\lambda - a)\beta + 2\delta]}{\mu + \lambda} \right]^m} |z|^2 \end{aligned}$$

$$|f'(z)| \leq 1 + |z| \sum_{n=2}^{\infty} n a_n \geq |z|$$

$$+ \frac{2\chi(\sigma + (1-\gamma))}{[\gamma + \chi(2\sigma + 1 - \gamma)] \left[1 + \frac{[(\lambda - a)\beta + 2\delta]}{\mu + \lambda} \right]^m} |z|$$

$$|f'(z)| \geq 1 - |z| \sum_{n=2}^{\infty} n a_n \geq |z|$$

$$- \frac{2\chi(\sigma + (1-\gamma))}{[\gamma + \chi(2\sigma + 1 - \gamma)] \left[1 + \frac{[(\lambda - a)\beta + 2\delta]}{\mu + \lambda} \right]^m} |z|$$

3. Close-to-convexity, Starlikeness and Convexity

In this part in article for a univalent function $f(z)$, we find the second important result for $f(z) \in \mathbf{A}$ is said to be close-to-convex of order η if it satisfies

$$\operatorname{Re}\{f'(z)\} > \eta \quad (8)$$

for some $\eta (0 \leq \eta \leq 1)$ and for all $z \in \mathbf{U}$. Also a univalent function $f(z) \in \mathbf{A}$ is said to be starlike of order η if it satisfies

$$\operatorname{Re}\left\{ \frac{zf'(z)}{f(z)} \right\} > \eta \quad (9)$$

for some $\eta (0 \leq \eta \leq 1)$ and for all $z \in \mathbf{U}$. Additional, a univalent function $f(z) \in \mathbf{A}$ is said to be convex of order η , if and only if $zf'(z)$ is starlike of order η , that is if

$$\operatorname{Re}\left\{ 1 + \frac{zf''(z)}{f'(z)} \right\} > \eta \quad (10)$$

for some $\eta (0 \leq \eta \leq 1)$ and for all $z \in \mathbf{U}$.

Theorem 3.1 If $f(z) \in G_m(\gamma, \sigma, \chi)$, then a univalent function $f(z)$ is close-to-convex of order η in $|z| < h_1(\sigma, \chi, \gamma, \eta) \in G_m(\sigma, \chi, \gamma, \eta)$, where,

$$h_1(\sigma, \chi, \gamma, \eta) = \inf_n$$

$$\left\{ \frac{(1-\eta)[\gamma(n-1) + \chi(n\sigma + 1 - \gamma)] \left[1 + \frac{(n-1)[(\lambda - a)\beta + n\delta]}{\mu + \lambda} \right]^m}{n\chi(\sigma + (1-\gamma))} \right\}^{\frac{1}{n-1}}$$

Proof. It is follow technique steps adequate to demonstrate that

$$|f'(z) - 1| < \sum_{n=2}^{\infty} n a_n |z|^{n-1} \leq 1 - \eta \quad (11)$$

And

$$\sum_{n=2}^{\infty} [\gamma(n-1) + \chi(n\sigma + 1 - \gamma)]$$

$$\left[1 + \frac{(n-1)[(\lambda - a)\beta + n\delta]}{\mu + \lambda} \right]^m a_n \leq \chi(\sigma + (1-\gamma)).$$

observe that (11) is true if

$$\frac{n|z|^{n-1}}{1-\eta} \leq \frac{[\gamma(n-1) + \chi(n\sigma + 1 - \gamma)] \left[1 + \frac{(n-1)[(\lambda - a)\beta + n\delta]}{\mu + \lambda} \right]^m}{\chi(\sigma + (1-\gamma))}. \quad (12)$$

Solving (12) for $|z|$, we obtain

$$|z| \leq \left\{ \frac{(1-\eta)[\gamma(n-1) + \chi(n\sigma + 1 - \gamma)] \left[1 + \frac{(n-1)[(\lambda - a)\beta + n\delta]}{\mu + \lambda} \right]^m}{n\chi(\sigma + (1-\gamma))} \right\}^{\frac{1}{n-1}}$$

($n = 2, 3, \dots$).

Theorem 3.2 If $f(z) \in G_m(\gamma, \sigma, \chi)$, then a univalent function $f(z)$ is starlike of order η in $|z| < h_2(\sigma, \chi, \gamma, \eta) \in G_m(\sigma, \chi, \gamma, \eta)$, where

$$h_2(\sigma, \chi, \gamma, \eta) = \inf_n$$

$$\left\{ \frac{(1-\eta)[\gamma(n-1) + \chi(n\sigma + 1 - \gamma)] \left[1 + \frac{(n-1)[(\lambda - a)\beta + n\delta]}{\mu + \lambda} \right]^m}{(n-\eta)\chi(\sigma + (1-\gamma))} \right\}^{\frac{1}{n-1}}$$

Proof. We should get that $\left| \frac{zf'(z)}{f(z)} - 1 \right| < 1 - \eta$
 For $|z| < h_2(\sigma, \chi, \gamma, \eta)$. Since

$$\left| \frac{zf'(z)}{f(z)} - 1 \right| \leq \frac{\sum_{n=2}^{\infty} (n-1)a_n |z|^{n-1}}{1 - \sum_{n=2}^{\infty} a_n |z|^{n-1}}$$

If

$$\frac{(n-\eta)|z|^{n-1}}{1-\eta} \leq \frac{[\gamma(n-1) + \chi(n\sigma + 1 - \gamma)] \left[1 + \frac{(n-1)[(\lambda-a)\beta + n\delta]}{\mu + \lambda} \right]^m}{\chi(\sigma + (1-\gamma))},$$

$f(z)$ is star like of order η .

Corollary 3.3 If $f(z) \in G_m(\gamma, \sigma, \chi)$, then a univalent function $f(z)$ is convex of order η in $|z| < h_3(\sigma, \chi, \gamma, \eta)$, where

$$h_3(\sigma, \chi, \gamma, \eta) = \inf_n \left\{ \frac{(1-\eta)[\gamma(n-1) + \chi(n\sigma + 1 - \gamma)] \left[1 + \frac{(n-1)[(\lambda-a)\beta + n\delta]}{\mu + \lambda} \right]^m}{n(n-\eta)\chi(\sigma + (1-\gamma))} \right\}^{\frac{1}{n-1}}$$

4. An Application in the Fractional Calculus

In this part in article for a univalent function $f(z)$, we find the third important result for $f(z) \in \mathbf{A}$ is, Owa⁸ gave the accompanying definitions for the fractional calculus. For else definitions⁹⁻¹¹.

Definition 4.1 The fractional integral of order ν is defined by

$$D_z^{-\nu} f(z) = \frac{1}{\Gamma(\nu)} \int_0^z \frac{f(t)}{(z-t)^{1-\nu}} dt$$

where, $\nu > 0$. $f(z)$ is analytic function in a simply connected region of the z -plane containing the origin and multiplicity of $(z-t)^{\nu-1}$ is remove by requiring $\text{Log}(z-t)$ to be real when $(z-t) > 0$.

Definition 4.2 The fractional derivative of order ν is defined by

$$D_z^{\nu} f(z) = \frac{1}{\Gamma(1-\nu)} \frac{d}{dz} \int_0^z \frac{f(t)}{(z-t)^{\nu}} dt,$$

where, $0 \leq \nu < 1$. $f(z)$ is analytic function in a simply connected region of the z -plane containing the origin and multiplicity of $(z-t)^{-\nu}$ is remove as in Definition 4.1.

Definition 4.3 Under the conditions of Definition 4.2, the fractional derivative of order $n+\nu$ is defined by $D_z^{n+\nu} f(z) = \frac{d^n}{dz^n} D_z^{\nu} f(z)$, where $0 \leq \nu < 1$ and $n = 0, 1, 2, \dots$.

Theorem 4.4 Let the function $f(z)$ be in the class $G_m(\gamma, \sigma, \chi)$. Then

$$\left| D_z^{-\nu} f(z) \right| \leq \frac{1}{\Gamma(2+\nu)} |z|^{1+\nu} \left[1 + \frac{2\chi(\sigma + (1-\gamma))}{(2+\nu)[\gamma + \chi(2\sigma + 1 - \gamma)] \left[1 + \frac{[(\lambda-a)\beta + 2\delta]}{\mu + \lambda} \right]^m} |z| \right] \quad (13)$$

And

$$\left| D_z^{-\nu} f(z) \right| \leq \frac{1}{\Gamma(2+\nu)} |z|^{1+\nu} \left[1 - \frac{2\chi(\sigma + (1-\gamma))}{(2+\nu)[\gamma + \chi(2\sigma + 1 - \gamma)] \left[1 + \frac{[(\lambda-a)\beta + 2\delta]}{\mu + \lambda} \right]^m} |z| \right] \quad (14)$$

$$\left(\chi(\sigma + (1-\gamma)) \leq \frac{(2+\nu)[\gamma + \chi(2\sigma + 1 - \gamma)] \left[1 + \frac{[(\lambda-a)\beta + 2\delta]}{\mu + \lambda} \right]^m}{2\Gamma(2+\nu)} \right)$$

The last equalities in (13) and (14) are accomplished for the function

$$f(z) = z - \frac{\chi(\sigma + (1-\gamma))}{[\gamma + \chi(2\sigma + 1 - \gamma)] \left[1 + \frac{[(\lambda-a)\beta + 2\delta]}{\mu + \lambda} \right]^m} z^2.$$

Proof. By use the first important result coefficient © in equality in Theorem 2.1

$$\sum_{n=2}^{\infty} a_n \leq \frac{\chi(\sigma + (1-\gamma))}{[\gamma + \chi(2\sigma + 1 - \gamma)] \left[1 + \frac{[(\lambda - a)\beta + 2\delta]}{\mu + \lambda} \right]^m}. \quad (15)$$

From Definition 4.1 we get

$$D_z^{-v} f(z) = \frac{1}{\Gamma(2+v)} z^{1+v} - \sum_{n=2}^{\infty} \frac{\Gamma(n+1)}{\Gamma(n+v+1)} a_n z^{n+v}$$

And

$$\begin{aligned} & \Gamma(2+v) z^{-v} D_z^{-v} f(z) \\ &= z - \sum_{n=2}^{\infty} \frac{\Gamma(n+1)\Gamma(v+2)}{\Gamma(n+v+1)} a_n z^n = z - \sum_{n=2}^{\infty} \Psi(n) a_n z^n \end{aligned} \quad (16)$$

where

$$\Psi(n) = \frac{\Gamma(n+1)\Gamma(v+2)}{\Gamma(n+v+1)}.$$

We get that $\Psi(n)$ is a decreasing for a univalent function of n and $0 < \Psi(n) \leq \Psi(2) = \frac{2}{2+v}$. Using (15) and (16) we get

$$\begin{aligned} & \left| \Gamma(2+v) z^{-v} D_z^{-v} f(z) \right| \leq |z| + \Psi(2) |z|^2 \sum_{n=2}^{\infty} a_n \\ & \leq |z| + \frac{2\chi(\sigma + (1-\gamma))}{(2+v)[\gamma + \chi(2\sigma + 1 - \gamma)] \left[1 + \frac{[(\lambda - a)\beta + 2\delta]}{\mu + \lambda} \right]^m} |z|^2, \end{aligned}$$

which gives (13), we likewise have

$$\begin{aligned} & \left| \Gamma(2+v) z^{-v} D_z^{-v} f(z) \right| \geq |z| - \Psi(2) |z|^2 \sum_{n=2}^{\infty} a_n \\ & \geq |z| - \frac{2\chi(\sigma + (1-\gamma))}{(2+v)[\gamma + \chi(2\sigma + 1 - \gamma)] \left[1 + \frac{[(\lambda - a)\beta + 2\delta]}{\mu + \lambda} \right]^m} |z|^2 \end{aligned}$$

which gives (14).

Theorem 4.5 Let the function $f(z)$ be in the class $G_m(\gamma, \sigma, \chi)$. Then,

$$\begin{aligned} & \left| D_z^v f(z) \right| \leq \frac{1}{\Gamma(2-v)} |z|^{1-v} \\ & \left[1 + \frac{2\chi(\sigma + (1-\gamma))}{(2-v)[\gamma + \chi(2\sigma + 1 - \gamma)] \left[1 + \frac{[(\lambda - a)\beta + 2\delta]}{\mu + \lambda} \right]^m} |z| \right] \end{aligned} \quad (17)$$

And

$$\begin{aligned} & \left| D_z^v f(z) \right| \geq \frac{1}{\Gamma(2-v)} |z|^{1-v} \\ & \left[1 - \frac{2\chi(\sigma + (1-\gamma))}{(2-v)[\gamma + \chi(2\sigma + 1 - \gamma)] \left[1 + \frac{[(\lambda - a)\beta + 2\delta]}{\mu + \lambda} \right]^m} |z| \right] \end{aligned} \quad (18)$$

$$\left(\chi(\sigma + (1-\gamma)) \leq \frac{(2-v)[\gamma + \chi(2\sigma + 1 - \gamma)] \left[1 + \frac{[(\lambda - a)\beta + 2\delta]}{\mu + \lambda} \right]^m}{2\Gamma(2-v)} \right)$$

The equalities in (17) and (18) are accomplished for a univalent function

$$f(z) = z - \frac{\chi(\sigma + (1-\gamma))}{[\gamma + \chi(2\sigma + 1 - \gamma)] \left[1 + \frac{[(\lambda - a)\beta + 2\delta]}{\mu + \lambda} \right]^m} z^2.$$

Proof. Using Theorem 2.1 we have

$$\sum_{n=2}^{\infty} n a_n \leq \frac{2\chi(\sigma + (1-\gamma))}{[\gamma + \chi(2\sigma + 1 - \gamma)] \left[1 + \frac{[(\lambda - a)\beta + 2\delta]}{\mu + \lambda} \right]^m}. \quad (19)$$

From Definition 4.2 we get

$$D_z^v f(z) = \frac{1}{\Gamma(2-v)} z^{1-v} - \sum_{n=2}^{\infty} \frac{\Gamma(n+1)}{\Gamma(n-v+1)} a_n z^{n-v}$$

And

$$\begin{aligned} \Gamma(2-v) z^v D_z^v f(z) &= z - \sum_{n=2}^{\infty} \frac{\Gamma(n+1)\Gamma(2-v)}{\Gamma(n-v+1)} a_n z^n \\ &= z - \sum_{n=2}^{\infty} \frac{\Gamma(n)\Gamma(2-v)}{\Gamma(n-v+1)} n a_n z^n = z - \sum_{n=2}^{\infty} n \Phi(n) a_n z^n \end{aligned} \quad (20)$$

$$\text{since } \Phi(n) = \frac{\Gamma(n)\Gamma(2-v)}{\Gamma(n-v+1)}$$

We know that $\Phi(n)$ is a decreasing for a univalent function of n and $0 < \Phi(n) \leq \Phi(2) = \frac{2}{2-v}$

Using(19) and (20) we have

$$\begin{aligned} |\Gamma(2-v) z^v D_z^v f(z)| &\leq |z| + \Phi(2) |z|^2 \sum_{n=2}^{\infty} n a_n \leq \\ &|z| + \frac{2\chi(\sigma + (1-\gamma))}{(2-v)[\gamma + \chi(2\sigma + 1 - \gamma)] \left[1 + \frac{[(\lambda - a)\beta + 2\delta]}{\mu + \lambda} \right]^m} |z|^2, \end{aligned}$$

which gives (17), we also have

$$\begin{aligned} |\Gamma(2-v) z^v D_z^v f(z)| &\leq |z| - \Phi(2) |z|^2 \sum_{n=2}^{\infty} n a_n \\ &\leq |z| - \frac{2\chi(\sigma + (1-\gamma))}{(2-v)[\gamma + \chi(2\sigma + 1 - \gamma)] \left[1 + \frac{[(\lambda - a)\beta + 2\delta]}{\mu + \lambda} \right]^m} |z|^2, \end{aligned}$$

which gives (18).

5. Acknowledgement

This work is supported by the grant AP-2013-009 from UKM.

6. References

1. Amourah A, Yousef F, Al-Hawary T, Darus M. A certain fractional derivative operator for p-valent functions and new class of analytic functions with negative coefficients. *Far East Journal of Mathematical Sciences*.2016; 99(1):75–87.
2. Salagean GS. Subclasses of univalent functions. *Complex Analysis-Fifth Romanian-Finnish Seminar*, Springer Berlin Heidelberg; 1983. p. 362–72.
3. Darus M, Faisal I. Some subclasses of analytic functions defined by generalized differential operator. *Acta Universitatis Apulensis*.2012; 29:197–215.
4. Darus M, Ibrahim RW. On subclasses for generalized operators of complex order. *Far East Journal of Mathematical Sciences*. 2009; 33(3):299–308.
5. Al-Oboudi FM. On univalent functions defined by a generalized Salagean operator. *International Journal of Mathematics and Mathematical Sciences*. 2004;27(2004):1429–36.
6. Atshan WG, Ghawi HY. On a new class of univalent functions with negative coefficients. *European Journal of Scientific Research*. 2012; 74(4): 601–8
7. Al-Hawary T, Amourah AA, Yousef F, Darus M. A certain fractional derivative operator and new class of analytic functions with negative coefficients. *International Information Institute (Tokyo) Information*. 2015; 18(11):4433–41.
8. Owa S. On the distortion theorems I. *Kyungpook Mathematical Journal*. 1978; 18(1):53–9.
9. Srivastava HM, Owa S. A new class of analytic functions with negative coefficients. *Commentarii Mathematici Universitatis Sancti Pauli*. 1986; 35(2):175–88.
10. Srivastava HM, Saigo M, Owa S. A class of distortion theorems involving certain operators of fractional calculus. *Journal of Mathematical Analysis and Applications*. 1988; 131(2):412–20.
11. Nishimoto K. Fractional derivative and integral. Part I. *J. College Engng. Nihon Univ*. 1976; B-17:11–19.
12. Swamy SR. Inclusion properties of certain subclasses of analytic functions. *International Mathematical Forum*. 2012; 7(36):1751–60.
13. Aljarah A, Darus M. Differential sandwich theorems for p-valent functions involving a generalized differential operator. *Far East Journal of Mathematical Sciences*. 2015; 96(5):651–60.
14. Al-Kaseasbeh M, Darus M. On an operator defined by the combination of both generalized operators of Salagean and Ruscheweyh. *Far East Journal of Mathematical Sciences*. 2015; 97(4):443–55.
15. Amourah A, Al-Hawary T, Darus M. On certain subclass of p-valent functions with negative coefficient associated with a new generalized operator. *Journal of Analysis and Applications*. 2016;14(1):33–48.